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Write your answers in neat x

Amuupnrquwmam&rw. :
Of the five questions in Part B auswer fhree quastions onl
After_answering, tie Part A and the answer seripi of Pa

¥ ok % |

1. (A) The following diagram briefly mammmwm

S

e 4 o5 2

Fill in the blanks in the table
statements.

Statement

(i) | The gas contributing most to the increase in global warming mb&&& ‘9.5.9,.(.,“‘ ev_oiz) ———
(i) | The main source that releases the components cavsing 1 y 01
eutrophication in the reservoir m ( )
(iii) | Gaseous organic compound that depletes the ozone layer i *',-;’.", ’
. ' > (01) :
(iv) | The zone most prone to have photochemical siiog - NS I i SN,
g ; et ' Coal - fired power plant/ Coal/ |
(v) | The source producing gases which cause acid rains " Vehicles/Ships /Factories (01) |

(vi) | The source that adds ground heavy metals to-topsoil : ) WM(ML SNBSS s ]

(vii) | The pollutant accumulated in living organisms throngh-foad
| chains and subjected to the minimum chemical digestiondis | .
, , :

digestive system

T
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(B) In a certain area, tsmdywas‘“ i
conducted about soil pollution. &gl P i
In this study, soil samples g

were collected monthly from a
selected site and their physical
properties density, moisture
content, electrical conductivity
and pH value were determined

e fff#*f v
the above graphis.

Answer the following questions based op W

R

(i) Accordingto the density graph, Mmg-m oy
(ii) In which month was the MMM;,,,_ m, (01)

(iii) How much usmesmonmofmmp :

Fad it T 4
..................................... ,....-ﬂ covane

(iv) In which time range had the soil pH stayed constant? . AL ~june =july :
(v) Which physical property shows a contistous décfease dusing the period of dita collection? if
................................. Electrical condUcW .. (01 ovcosusessrisesissicsnscmor]
(vi) Wh:chphysncalpmpermminﬂ : mined by the z jon
present in the soil? ... Cor
(vii) ]nAugust,onmednyamMaﬂy' e the.
Accordingly, of the points A, B,C and D; thepH vale :
nlostprobabbsoxlpﬂvamemlevmmm“& (01)
2. (A) From the plants given in the box, select a'plantwhic
and write it on the dotted Jine opposite each.
Winus, Coconut, Jack, Paddy, Marchantia, 2

|

|

| () A non-flowering plant without seeds
% (i) A non-flowering plant with seeds

Co’conut s Paddy (01)

(iil) A monocotyledonous flowering plant
(iv) A dicotyledonous flowering plant
(B) In order to demonstrate the action of the

W.MW on

solution was added to it and the colour was observe
following table. The colour observed in each inst
Time/minutes 5 13
Colour observed | Violet-blue

(i) What is the formed bv the action of am
altose (01)

(ii) Give the reason for the followmg opservations. x: (01)
(a) Appearance of blue colour after ummm-am sere
(b) Appearance of yellow-brown colour after 35:m All s
(i11)  Whu.ic the mivture euhiected tn the mmmﬂ“ Providing the
optimal temperature for enzymatic action /Maintaining at the body temperature / To increase the rate of the reaction (01)

(iv) Which compbnent dbes not undergb a chiéi i es to the chemical ;
[ pertaining to the above experiment? ..,.... SNTARE oxer  (01)
3 2 . * “.M — .
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i (C) Given below is a diagram of a typxcalplamodﬁm O
(i) By which letter is the structure that helps.
to maintain the shape of plant cells named? § § 2
B (01)

(m Write the names ofﬁreorganeﬂmhbeﬂed |
Q and T in the relevant boxes.

(iii) By what letter is the organelle that r‘.am‘
also be identified when observed under

the optical microscope labelled?
Jt S S oy
(iv) Stme the function carried out by the foﬂo}xmg-
(a) chloroplast Larry out ph
(b) mitochondrion Cellular mstm 71

m the folluwmgdlagrams L, M, Qandkmm

3. (A) How electrons exist in the energy levels bmnmmmegmm

“* (01) 06

D

Q
(i) Using the given symbols, indicate the pmmu

periodic table as shown for element L.

i
| (ii) Write the chemical formula of M existing in'the giseoussiate inthemalecular form.. M2. £ F2 |
! {iiiy What is the chemical formula of the WMMWWW

LM, /

(iv) Oft

(01)

and M, which element is higher in dwmwwh
1 (v} O'Qand R, which element is lower in fixsé iomwM}s{&wmﬂ@&)»aun-mwr--

L/

(01)

e s s e SR

(vi) State the acidic/basic nature of the following oxides fortned by L 4nd'Q.

(03)

(vii) The diagram illustrates how Q exists in the fonic. =
‘ compound formed by the combination of Qand M.
Draw how M exists in that compound.

&

Lo : acidic

(8) Chemical bonds within the water molecules )
the water molecules are indicated in the Mﬂﬂ

arrows @ and @ respectively. Using it fill in the blanks
in the following sentences.

(i) The bond type indicated by the atrow @vipf
indicated by the arrow @ is known s .

(ii}y The type of bonds indicated by the arioy
" higher boiling poim of wa!er

(iii) A very small

QZQ 3\num (01) i

(03)
M, Q and R in the

(01)

" (01)
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4. (A} ABCD is a horizontal path. The distances berwost s
the path AB and CD offer friction. The st BG ﬁmm
a horizontal force of 12 N was applied as shoss Ju g Sems Wiea:

force was removed. The trolley that entered Mmm
the trolley when moving in the parts offéring mm&ﬁ* ’

T_'}2 N
;4 kg .
. 4N . e R S R
A B &
(i) Indicating the nature of the motien (‘;f%&mﬁgﬁﬂ i

[ _ fomAm#

| Nature of motion of the trolley W

\ o K

i) On the following system of #xes, é{a&ﬁu
approximate velocity-time graphi for the sk
of the woliey from A o D.
(iii} What is the unbalanced force acting-on ieimitey
in tts motion from A to B?

Confidential

[011 R PRI 3, - & -1
{iv) Caleulate the accelﬂrazmn of’ the trofle;

mouon ;rom Afo B N Any subsxtzzt&m (01)
................ a=m2meZ T R
{B) The diagram shows a pan balance used ina fetait shiop.
) When 1 kg of sugar is placed on-ong pai of 1S

halance, what is the mass of the-weight that shovldfic
placed on the ather pan 1o counterpoisethe Balapes?

1k g (01) . ‘ SR MMWVH# soleht”

e

as mentioned in (1) above? The mass "c?f‘u!"lw ba&&%eﬁxﬁag \hﬁ-% G ¥ ;w:?fﬁ'ﬁi?-?fﬁ‘s?%r
50N (o1)

(iiir The figure shows a feorbalance used
awholesale storeto weigh a large mass.
A mass of 50 kg is placed on.one side
of the balance and a weight of massm
is suspended on the other side so that
the balance is counterpoised.

ool e

500 Nx——m /25 Nm /

(a) Find the moment created aroind p@ﬁﬁ%&%ﬁmm.‘?go N X 5 cm / 2500 N_cm (01)

(b} Write an expression in texms of 2 for dhe moment ereated sround Fﬂiﬂiﬁ*ify %Wgﬁi«
............. . mERIm/mgx 100.0m/ 10m,, . A0L), .. 0so.e
(¢) When the balance is counterpoised avound BECY die: .
50 kg mass and the clockwise moreiit chested i}?%m W;?ﬁﬂéﬁk&m aﬁm
. m=25kg .(01) ; RO
(d) State two advantages of using ammm&&mmwmmmam

THass
I:asy to hanéle éhe wetglat\[ Cmme alarge mass

Wy s S
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51(A)] ) e Moisturizing or humidifying inhaled air 2
Bringing inhaled air to the body temperature

o s Removal of impurities or foreign bodies from inhaled air

' For any two
(iiy s Diaphragm (01) 2

s Ribs/ Give marks even for inter - costal muscles. (01)
1 ‘ (i) | (@) | » X- 0,/Oxygen (01) i 2
; e Y -CO, / Carbondioxide

Give marks even for H,0 or water vapour (01)

(b) | Diffusion ; ' 1

T (¢) |A - oxygen concentration is low B - oxygen concentration is high
A doxygenated blood _ B - dpoxygenated blood
A - CO,/HCO; concentration is high B - CO,/HCO; concentration is low 1
For any one
(d) | « Alveolar walls being thin 1
¢ Alveolar walls being wet
o Alveolar walls being permeable _
¢ Prescnce of a blood capﬂ[ary network around alveoli

Presence of a large number of air sacs

For any one
(e} | Silicosis ; 1
: ¢
K NG | Light energy — Chemical energy 1
i (if) " | Diffuses (01) into leaves through stomata (01} Z
(iii) Yes (01) 2

Because withouf water the plant will die / Cannot setup a
control experiment without water (01) _

(iv) (a) | ¢ Xylem vessels (01) P 2
¢ Tracheid {01)

(b) | Minerals 1
(¢) | Providing mechanical strcngth / support/ rigidity to the plant 1
| (d) | Lignification (of cell wall) or {Cell walls) are lignified.
TOTAL MARKS 20

.
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(A) | (D Compounds that increase the OH™ ion concentration (in an aqueous solution) or 1
compounds that release OH™ ions (to an aqueous solution)
(ii) Because NaOH completely dissociates/ionizes (in an aqueous solution) or 1
NaOH(aq) - Na*(ag) + OH (aq) Physical status are not essential,
(i) In the production of soap/ paper/ artificial silk/ dyes/ medicine or refining 1
petroleum products
For any one
(iv) | (a) | e Volumetric flask 2
s Watch glass
* Funnel
For any two
(b) | Molar mass of NaOH =23+ 16+ 1 ‘ ] 3
=40 (g mol™) (01)
Number of moles of NaOH = 0 / .“ﬂ x5t
1000Q, joey
=0.5 mol (01)
Mass of NaOH =0.5x40
' =20g (01)
(c) | » Weighing NaOH less than the amount required
» Not transferring all NaOH to the flask 2
* Overlooking errors in the balance
+ Not weighing accurately
¢ Addition of water in excess
¢ Not using distilled water )
For any two
10
B | (i) | (a) | Fractional distillation 1
(b) | & Wax (paraffin) i
| o Bitumen / Tar / Asphalt
s (rease
For any one ]
i ) H Vs H 4 |
' =0 Forthis CHa = CHy {01) only
H' N |
(iii) Polythene/ polyethylene/ polyethene i
| (v} e Absence of double bond in ethane i
* Presence of only single bonds in ethane
e Ethane is an alkane. :
» Presence of a double bond in ethene
e FEthene is an alkene
L For any one
(v} | (@) | x=2gr 1
CHu(g) + 30,(g) » 2C0,(g) + 2H,0(1) + (Heat)
(b) ,
P CoHa(g) +30z(g)/Reactants  ghowing reactants and products (01) 4
%‘ £ Labelling the axis 01) 3
2C0,(g) + HZO(g)/Product" For the downward arrow (01)
10
TOTAL MARKS 20

e ]
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171w @ e il
309 2
Air \d
N\ (01)
i k
Glass block \ o4 .
@ 2\, © _ !
e : 30
Showing ‘r’ in the diagram
| — ~ P in 30° 1 .
(iii) n =0t ¥ n= 0 r sinr=sin30"/n orsinr=-— 2,
sinr - sinr - = 2n
r
- _ sin value of angle of incidence '
~ sinvalue of angle of refraction .
(iv) 30" or showing 30" in the diagram : ) 1
(¥} (il) | Rarer medium
; A— or_travels along the interface - 1
e
| Deower mesmm |
(b) | Total internal reflection 1
(c) e Optic fibers l 2
e Intcrnet connections
¢ Periscope
+ Endoscope
o Telephone communication technology
¢ Decorations
i ¢ Binocular
L For any twe
i ‘ . 10
R {O=mcé : For the equation  (01)
i =1 (kg) x 4200 (Fkg' "C"yx 80(°C)  For the substitution (01) 3
! =336000) OR=336K Answer with vnit  (01)
(i) 0-C6 o
=160 (J°C x 80 (°C) on z
=128007 or 12.8kJ (01)
(iii) E=Ptor t=E/P or For Calculating total energy (01)
: mark
y=1336000% 121(?;)(())) or 338800 For the equation or substitution (01) 3
t=348.8 scconds or 5.81 minutes For the answer with unit (01)
T (iv). | (a) | Convection 1
(b) | Radiation . . 1
10
_| TOTAL MARKS ’ 20
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Depositing the pollen of a flower artificially on the stigma of

the same flower or on the stigma of a different flower of the same species with fingers

or with a brush. Free mark *\

(i)

Survival in unfavourable time/ Perennation/ Dormant period / Dormancy

(“ )

(iii)

Tissue culture

(iv)

* & @ 0 0

Having a strong root system

Being resistant to diseases and pests .
Withstanding unfavourable environmental conditions
Having uniform growth

Both woodapple and orange are plants showing affinities

For any two

NIES

4]

fry (Her Can bt et
Y /],.shafj‘g} P (v) {ﬁ ameh%

")

R T For showing genetypes (01)

R RR |Rr |{|° . \
T Rr by (01) r;.ffh’ L{\{ ?mww\(} Strvw{'( )

Indicating the ratio between round seeds and wrinkled seeds as 3 : |
Deduct 1 mark for any other explanation without the Punnett square.

(on

(B)

(i)

Fleming’s right-hand rule

(i)

QtoP

(i)

(a)

Y

(b)

Because LED / W is reverse biased
Give only | mark for stating LED/W dose not allow the current to flow

(iv)

(2)

(PQ conductor rod) moves towards the right.

For stating that ‘PQ moves’ give only 1 mark

(b)

(DC) motor or speaker (loudspeaker)/ jalvanometer/Ammeter/Voltmeter

| TOTAL MARKS
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9 {(A) | XY, Cu or X >Y>Cu

i
(i) In between Y and Cu 1
(i) | (a) !X i
(b) [ Cu 1
. (iv) MgY +2HCl - YCl, +H, 2
- Fer correct reactants and products 0
ﬁ 3 For the balanced equation (01)
L If Mg is usestinstead of Y marks will be awarded.
(v} [(a) | Cu?*(aq) + 2Ze - Cu(s) 1
Award marks even without physical states .
(b) | (Intensity of) blue color decreases / becomes colorless 1
(vi) | (a) | Zn/Zinc plate 1
‘ ‘ () | SOZ™ / Sulphate ion 1
) 10
B) | @) A - Microphone (1} 3
B — Amplifier 01)
C — Loudspeaker / speaker (01)
(ii) Sound waves vibrate the diaphragm and induce an electromotive force / a 1
current. '
. l - (iil) € Collector 2
1 .
‘ (01)
E
s {01)
. g aph i OR pnp
It is compuisory to label terminals either in the structure or the symbol.
(iv) o Coil 2
*  Mugnet )
*  Paper/ cardboard cone / D} 6.%3?”) 4 &M
For any two
v) Loudness | 1
(vi) Pitch / Loudness / Quality of sound 1
T 10
20

- HERE o
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